Pan Head Machine Screws

Prices displayed include 8% tax. g
TRUSCO Stock : =
B (38650 Pan Head Machine Screw (full thread type) g
| ems
| e S
Features A common machine screw with cross recess. Compatible Screwdriver Lo
Drawing ) Origin .- M2/N26 Plus No. 1 W
¥ M3 to M5 Plus No. 2 (o]
[\ m MEMB Plus No. 3 s
BO1 Type Basic Dimension (unit: mm) A
(steel) Dimensions . MJQ;[.TC" 2.::::5:-;{,3.- Threas Pitch CI?\T{? nﬁgc‘fss Head O.,t;(Dhne’.w Head T:ickness =z
p sorew M2 0.40 1 3.5 1.3 E'.
) W " demeier] W26 0.45 1 a5 17 "
L o e T M3 0.50 ] 55 20
Rl 11111 I 070 3 70 26
BO5 Type s 0.80 2 9.0 33 Hexagon
(stainless steel) k - o = s 32 Bolts
ISteelI Specs  eTensile Strength Rank: 4.8 {min tensile strength/proof stress) Materials eLow Carbon Steel(SWCH)  eSurface Treatment: Unichrome Plated Finishing ";gg,%g"
Hea a
TRUSCO NAKAYAMA CORPORATION _ SE'EWSP_
Order Price |MSRP| pimensi a1y i Order Price [MSRP| pimensi Qty - i H
[T 6™ NO- | foer bag) | pe bag) Rl o, ) | @ooe | RGPS Item No. | bag) | (per bag il e a8 | (/oo® | [Socket Set
212-5251|B01-0303] ¥602 |¥650] Max3 310 10 | 1240 | 159-0243|B01-0475] ¥602 |¥650] Max7s 30 0 | teoo || >Crews
212-5269|B01-0304 | ¥602 |¥650| ™M3x4 400 10 1680 | 212-5358|B01-0505| ¥602 |¥650| Msxs 140 10 2380 Wi
158-9938|B01-0305/| ¥602 |¥650 Mmaxs 400 10 | 1836 | 159-0251|B01-0506| ¥602 (¥650| msxs 150 10 | 2700 ng
158-9946|B01-0306| ¥602 |¥650| Mm3xs6 400 10 2008 | 159-0260|B01-0508| ¥602 |¥650| Mmsxe 160 10 3379 Bolts
158-9954 |B01-0308| ¥602 [¥650| M3x8 360 10 211.3 | 159-0278|B01-0510| ¥602 (¥650| Mmsx10 160 10 3764 |
158-9962|B01-0310| ¥602 [¥650| m3x10 360 10 2419 | 159-0286|B01-0512| ¥602 |¥650| Msx12 150 10 389.1 | |Decoration
158-9971|B01-0312| ¥602 |¥650| m3x12 300 10 227.4 | 159-0294 /B01-0515| ¥602 (¥650| msx15 130 10 3640 ||Screws,
158-9989|B01-0315| ¥602 |¥650| m3x15 300 10 2670 | 159-0316|B01-0520| ¥602 |¥650| Msx20 120 10 4269 MNuts
159-0006|B01-0320| ¥602 |¥650| m3x20 240 10 2632 | 159-0324|B01-0525| ¥602 |¥650| Msx15 100 10 4160 |
159-0014|B01-0325| ¥602 |¥650| M3x25 2320 10 288.2 | 159-0332|B01-0530| ¥602 |¥650| M5x30 80 10 3809 Nut
159-0022[B01-0330| ¥602 [¥650] Mm3x30 180 10 | 2741 | 159-0341|B01-0535| ¥602 [¥650| msx35 70 0| 3754 UEs
159-0031|B01-0335| ¥602 |¥650| Mm3x35 130 10 2255 | 159-0359|B01-0540| ¥602 |¥650| M5x40 65 10 387.8 e
159-0049|B01-0340| ¥602 |¥650| M3x40 15 10 2240 | 159-0367 |B01-0545| ¥602 |¥650| Msx4s 60 10 394.1 Caps
212-5315|B01-0350| ¥602 |¥650| M3x50 90 10 2070 | 159-0375|B01-0550| ¥602 |¥650| M5x50 55 10 3344 tor
159-0057 |B01-0405| ¥602 [¥650| Mméx5 270 10 2430 | 159-0430|B01-0610| ¥602 |¥650| mMsx10 100 10 3926 || Screw
159-0065|B01-0406| ¥602 |¥650| maxe 270 10 2683 | 159-0448 |B01-0612| ¥602 |¥650| msx12 100 10 4270 |———
159-0073|B01-0408| ¥602 [¥650| maxs 270 10 3088 | 159-0456|B01-0615| ¥602 (¥650| mex1s 90 10 4290
159-0081|B01-0410| ¥602 |¥650| méxio 250 10 3237 | 159-0472|B01-0620| ¥602 (¥650| ms&x20 80 10 4515 | |Washers
159-0090|B01-0412| ¥602 [¥650| Mdxi2 250 10 361.2 | 159-0481|B01-0625| ¥602 [¥650| Mex25 65 10 4227
159-0103|B01-0415| ¥602 [¥650| m4ax1s 200 10 3200 | 159-0499|B01-0630| ¥602 (¥650| mex30 &0 10 4417
159-0111|B01-0416| ¥602 |¥650| Max16 190 10 3315 | 159-0502|B01-0635| ¥602 (¥650| mex35 55 10 452.2 Small
159-0138|B01-0420 | ¥602 |¥650| Mm4x20 170 10 | 3476 | 159.0511|B01-0640| ¥602 [¥650| M6 x40 50 0| 4540 || Screws
159-0146|B01-0425| ¥602 |¥650| m4x2s 140 10 3388 | 159-0537|B01-0650| ¥602 |¥650| mexs0 40 10 432.0
159-0154|B01-0430| ¥602 |¥650| Mm4x30 120 10 3355 | 159-0553|B01-0660| ¥602 (¥650| Mméx60 25 10 3155 || i hievous
159-0162|B01-0435| ¥602 [¥650] max3s 105 1o | 3328 | 159-0588|B01-0675| ¥602 |¥650| Mex75 12 10 | 2560 |lprayention
159-0171|B01-0440| ¥602 [¥650| maxa0 20 10 3191 | 159-0596|B01-0812| ¥602 (¥650| mex12 40 10 3724 || gerews
159-0189|B01-0445| ¥602 |¥650| Mmdx45 a5 0 3332 | 159-0600|B01-0815| ¥602 (¥650| mex15 35 10 3120
159-0197|B01-0450| ¥602 |¥650| Mdx50 70 10 3007 | 159-0626|B01-0820| ¥602 (¥650| mex20 33 10 3897 Drill
159-0219|B01-0460| ¥602 |¥650| Maxs0 50 10 2450 | 159-0634|B01-0825| ¥602 (¥650| msx2s 33 10 441.2 Screws
159-0235|B01-0470| ¥602 |¥650] m4x70 35 10 1960 | 159-0642|B01-0830| ¥602 |¥650| M8x30 30 10 4479
Stainless Steel | Specs s Tensile Strength Rank: Equivalent to A2-50 Materials eStainless Steel (SUS304 equivalent material) Ei?g\:cg
—
Order Price [MSRP| Dimensi Qty spqQ | Weight Order Price [MSRP| Dimensi Qty spa | weight || VWood
Item No. (per bag)| (per bag) (mmid x L ?Sire%:? Gad) | (E/bae) Code i (per bag) | (per bag) () o x | Filgiregg w8 | &b || Screws
212-5404|B05-0203| ¥879 [¥950| mz x3 150 10 18.0 159-0928 |B05-0420| ¥879 (¥950| m4x20 90 0 184.0
212-5412|B05-0204| ¥879 |¥950| m2 x4 160 10 230 | 159-0936 |B05-0425| ¥879 |¥950| m4x25 75 10 1815 :
212-5421|B05-0205| ¥879 [¥950| m2 x5 160 10 259 | 159-0944|B05-0430| ¥879 ¥950| m4x30 65 w | ez || Nails
212-5439|B05-0206| ¥879 |¥950| mz xs 160 10 286 | 159-0952|B05-0435| ¥879 (¥950| max3s 55 10 174.4
212-5447|B05-0208| ¥879 |¥950| w2 xs | e | 1o | 34 | 159-0961|B05-0440| ¥879 [¥950| maxso | so | 10 | 1773

212-5455|B05-0210| ¥879 [¥950| m2 x10 150 10 375 | 159-0979|B05-0445| ¥879 [¥950| Mmax4s 40 10 156.8
212-5463|B05-0212| ¥879 |¥950| m2 xi2 140 10 40.0 | 159-0987 |B05-0450| ¥879 |¥950| m4x50 35 10 150.4
212-5480|B05-0215| ¥879 [¥950| mz x15 130 10 442 | 159-0995|B05-0506| ¥879 [¥950| Mmsx6 75 10 1425
212-5510|B05-0220| ¥879 |¥950| m2 x20 10 10 470 | 159-1002|B05-0508| ¥879 (¥950| msxs 72 10 152.0
212-5528|B05-0225| ¥879 [¥950| mz x25 100 10 517 | 159-1011|B05-0510| ¥879 |¥950| msx10 70 10 164.7
212-5536|B05-2604| ¥879 [¥950| mz6x4 170 10 442 | 159-1029|B05-0512| ¥879 (¥950| msx12 65 10 168.6
212-5544|B05-2605| ¥879 [¥950| m26x5 170 10 476 | 159-1037|B05-0515| ¥879 [¥950| msx1s 55 10 165.0
212-5552|B05-2606| ¥879 |¥950 mz6x6 170 10 56.1 | 159-1045|B05-0516| ¥879 |¥950| msx16 55 10 169.1
212-5561|B05-2608| ¥879 [¥950| m26x8 160 10 624 | 159-1053|B05-0520| ¥879 |¥950| Mmsx20 50 10 177.9
212-5579|B05-2610| ¥879 [¥950| m2éx10 150 0 67.5 ]Igg-}om B05-0525| ¥879 |¥950| msx25 45 10 187.2

159-1

159-1

159-1

159

212-5609|B05-2615| ¥879 |¥950| m2ex15 120 10 69.6 -1070|B05-0530| ¥879 (¥950| msx30 35 10 166.6
212-5650|B05-0304| ¥879 |¥950| m3 x4 210 10 84.0
159-0740|B05-0305| ¥879 |¥950| ™3 x5 230 10 1055

-1088 |B05-0535| ¥879 |¥950| Msx35 32 10 1716
-1096|B05-0540| ¥879 [¥0950| msx40 27 10 161.1

159-0758|B05-0306| ¥879 [¥950| m3 xs 220 10 110.4 -1100 |B05-0545| ¥879 |¥950| ms=x45 23 10 151.0
159-0766|B05-0308| ¥879 [¥950| m3 xs 220 10 129.1 -1118 |B05-0550| ¥879 |¥950| msxs0 22 10 157.7
159-0774|B05-0310/| ¥879 [¥950| ™3 x10 190 10 1276 | 212-7008|B05-0608| ¥879 |¥950| mexs 45 10 161.1
159-0782|B05-0312| ¥879 [¥950| m3 xi2 170 10 1288 | 159-1126|B05-0610| ¥879 |¥950| mex10 40 10 157.0
159-0791|B05-0315| ¥879 |¥950| m3 x15 150 10 1350 | 159-1134|B05-0612| ¥879 [¥950| msx12 40 10 170.8
159-0812|B05-0320| ¥879 [¥950| ™3 x20 125 10 137.1 | 159-1142|B05-0615| ¥879 |¥950| msex1s 33 10 1419
159-0821|B05-0325| ¥879 |¥950| m3 x25 105 10 1375 | 159-1169|B05-0620| ¥879 [¥950| mMsx20 27 10 152.3
159-0839|B05-0330| ¥879 |¥950| M3 x30 90 | 10 | 1370 | 159-1177|B05-0625| ¥879 [¥950| Mex25 25 0 | e2s
159-0847|B05-0335| ¥879 [¥950| m3 x35 60 10 1041 | 159-1185|B05-0630| ¥879 |¥950| msx30 22 10 161.9
159-0855|B05-0340| ¥879 [¥950| ™23 x40 55 0 107.1 | 159-1193|B05-0635| ¥879 |¥950| mex3s 21 10 1726
212-5692|B05-0350| ¥879 |¥950| ™3 x50 45 10 1080 | 159-1207 |B05-0640| ¥879 |¥950| msx40 18 10 163.4
212-5706|B05-0405] ¥879 [¥950] M4 x5 165 10 1485 | 159-1223 650| ¥879 [¥950| msx50 15 10 162.0
159-0863|B05-0406| ¥879 [¥950| m4 x6 150 10 1491 | 159-1231|B05-0815| ¥879 [¥950| mex1s 19 10 171.0
159-0871|B05-0408| ¥879 [¥950| m4 xs 135 10 1544 | 159-1258 |B05-0820| ¥879 |¥950| msx20 7 10 200.7
159-0880|B05-0410| ¥879 [¥950| m4 x10 130 10 1683 | 159-1266|B05-0825| ¥879 |¥950| max2s 15 10 200.5
159-0898|B05-0412| ¥879 [¥950| M4 x12 120 10 173.4 | 159-1274|B05-0830| ¥879 |¥950| mex30 13 10 2330
159-0901|B05-0415| ¥879 [¥950| m4 x15 105 | 10 1785 | 159-1291|B05-0840| ¥879 [¥950| max40 11 10 1985
159-0910|B05-0416| ¥879 [¥950| m4 x16 100 10| 1745 Contact us:0120-509-849 http://www.orange-book.com/

Delivery estimate #---Manufacturer stock #-Delivery within 7 working days #--ASK  2-445



